BERVIT{I VBESA—T> BAS A > TIL D {EEE
FL—B : 20184098118
mEAR  BE/NUTa
IN—TF
o E % 1 [ 27 3 GROSS | HDCP | NET
RETE] 36 | 37 73 0.0 73.0
2 |#& BX 39 | 38 77 0.0 77.0
"y 3 i\ Eth 40 | 39 79 0.0 | 79.0
é l 4 |BE =T 40 | 43 83 00| 83.0
b |RB LK 39 | 45 84 0.0 | 84.0
6 |2F% BH 39 | 45 84 0.0 | 84.0
Fl 7 |EAR R 42 | 43 85 0.0 850
8 |Hiy —5 42 | 43 85 0.0| 85.0
9 |[BE T 42 | 43 85 0.0| 85.0
10 |B@m —F 41 | 44 85 0.0 | 850
11 |& E\R 42 | 44 86 0.0 86.0
12 |BF kX 40 | 46 86 0.0 86.0
13| HE 43 | 44 87 0.0 | 87.0
7 (158 =& a5 | 4% 333 0.0 858.0 1
15 [ ek 43 | 45 88 0.0 88.0
,1% 16 [NE B= 44 | 45 89 0.0 89.0
_l 17 |38 i 45 | 44 89 0.0 89.0
18 | A 45 | 45 90 0.0 | 90.0
19 [& Bl 44 | 46 90 0.0 | 90.0
20 |+ X4t 45 | 45 90 0.0 90.0
21 |[R#E E= 43 | 47 90 0.0 | 90.0
2 |E &% 46 | 45 91 00| 91.0
23|Ik = 43 | 49 92 0.0 92.0
24 |NB EE 44 | 48 92 0.0 92.0
25 |# 7REI 46 | 47 93 0.0 93.0
26 |EH FE 47 | 46 93 0.0 930
77 A B 46 | 47 =03 0.0 )
Jeke 28 |# 7RAI 52 | 42 04 0.0| 94.0
g 3 29 |8 #x 50 | 45 95| 0.0] 950
30 |8 RE 41 | 54 95 0.0 950
3 |BE B#® 48 | 47 95 00| 950
32 |48 T8 49 | 49 98 0.0 98.0
F 33 |BFRE %A 52 | 49 101 0.0 | 101.0
34 |Ek B— 52 | 50 102 0.0 | 102.0
35 | B4 47 | 56 103 0.0 | 103.0
3% |B Ett 51 | 53 104 0.0 | 104.0
3 |1 E 55 | 51 106 0.0 | 106.0
38 o E 51 | 58 109 0.0 | 109.0
39 |B 54 | 56 110 0.0 | 110.0
EE\E FH
&5 394 1/1 2018/9/11 15:27



BELITA WiEES = BES A oI/ 7{EEE
JL—H - 20184098118
BERARX  BENT 4
N—IH
JE L E % 1| 213 GROSS | HDCP | NET
1 [E = 37 | 38 75 00| 75.0
b 2 | & 40 | 38 78 00| 780
, 3 |#IL X 41 | 38 79 00| 79.0
4 |sh)I BB 36 | 44 80 00| 800
F' 5 |#HE E— 40 | 41 81 0.0 81.0
6 |E2 ES 39 | 43 82 0.0 820
7 |BE & 41| #1 82 00| 820
8 | —I 43 | 40 83 00| 830
9 B F= 40 | 43 83 0.0| 830
10 [kt FE 40 | 43 83 00| 830
1 [EEnk == 42 | 42 84 00| 84.0
VIR 30 | 44 81 0.0 840 |
L 13 |B1E /\BB 41 | 45 86 0.0| 86.0
;;l 14 |BEYE EED 41 | 45 86 0.0 86.0
15 |thE 1E3h 47 | 42 89 0.0| 89.0
16 |4rpy == 46 | 44 90 0.0 | 90.0
}:, 17 lum  s¢ 50 | 40 90 0.0 90.0
18 |8 EZ 43 | 49 92 00| 920
19 |8 X4 45 | 48 93 0.0 93.0
20 [HE B8 46 | 47 93 00| 93.0
21 &t = 48 | 46 94 0.0 940
22 [luA  EAT 47 | 47 94 00| 94.0
29 | PH L& 8| 47 95 0.0 050
;3 24 | B 48 | 48 96 0.0 96.0
25 |FHE B4 45 | 52 97 00| 97.0
26 |k B2 48 | 50 08 0.0 98.0
F 27 |EE A 52 | 47 99 0.0 99.0
28 [AM EA 51 | 50 101 0.0 | 101.0
29 5T X 55 | 46 101 0.0 | 101.0
0 [ &8 59 | 46 105 0.0 | 105.0
31 |Ba EE 53 | 52 105 0.0 | 105.0
32 T #HE 57 | 52 109 0.0 109.0
&5 324 1/1 2018/9/11 15:15



B&AVIT(2 WIBEA-N Y27

JL—B8 : 20184098118
BEAR - BENUT A

BARS A O 7ERES

N—J5t |
JE 45z E % 1] 2] 3 GROSS | HDCP | NET
B 36 | 38 741 00| 74.0
2 [@m = 39 | 36 751 00| 750
l 3 EBE BEA 44 | 39 83| 00| 830
4 |BH REEL 41 | 42 83| 00| 830
- 5 =8 &R 43 | 41 84| 00| 84.0
774}- 6 |#K #H 45 | 40 85| 00| 8.0
1 |EE B’x 46 | 41 87| 00| 87.0
8 |85k ik 48 | 41 89| 00| 890
9 kB ik 45 | 44 80| 00| 8.0
10 (Bl =& 45 | 44 80| 0.0] 89.0
T BN E= T 7000 —J0-0"]
12 |t EmeEn 45 | 47 92| 00| 920
g 13 |mE Bs 47| 45 92| 00| 920
2 14 [BE  {Ef7 44 | 48 92| 00| 920
15 R & 44 | 50 94| 00| 940
= 16 |A{IL E 47| 47 94| 00| 94.0
754 % 17 &8 2% 49 | 46 05| 00| 950
18 |8 A& 48 | 47 95| 00| 950
19 | =% 51 | 47 98| 0.0/ 980
20 |Em i 50 | 49 99| 00| 990
RS 50 | 50 100 | 0.0 1000
22 &% Al 51 | 51 102 0.0/ 1020
'i 3 23 |B3 18 49 | 53 102 | 0.0 102.0
24 [tEN #Bx 51 | 53 104 00/ 1040
= % |Za & 48 | 56 104 | 0.0 104.0
34k 26 @8 BB 56 | 53 109 o0/ 1000
27 |EE R 57 | 55 12| 0.0/ 1120
28 |85k MR 61 | 56 17| ool 117.0
29 &M FEEE 62 | 57 19| 0.0/ 119.0
30 B EE 61 | 59 120 0.0 120.0
&5 30N 1/1 2018/9/11 15:16



BEVIA VWEBELT—AX BAS A o)L DB
JL—H 20185098118
BEAR  BENT o
N—TF
JE {32 K 1 2 3 GROSS DCP NET
1188 /N\NEF 38 | 42 80 0.0 80.0
2 [R5 EXHF 40 | 43 83 0.0 83.0
3 B H 43 | 45 88 0.0 88.0
4 |FN FEH 46 | 45 91 0.0 91.0
5 [ BT 44 | 47 91 0.0 91.0
6 |Hx =HF 48 | 48 96 0.0 96.0
1|5FB D& 48 | 49 97 0.0 97.0
8 | KE B 46 | 52 98 0.0 98. 0
9 UNE HEF 49 | 52 101 0.0 101.0
10 (BB AETF 52 | 55 107 0.0 107.0
&5t 10A 1/1 2018/9/11 15:16



BAVIT WVRE/£BFAKE BAS A > 5L 7{EE

JL—H : 2018409A118 B LAR—IL 1.2.3.4.5.6.7.8.9.
BEAR  FTNURYT NR—x2Thwy b ®|OouT * ok * * ok %
ERHD Bttt 36 %t 36 HIN * ok ok ok %k
N—T 5t
5t KE % 1 | 2 [ 3] 4 | GROSS | HDCP | NET
1| RNl E*E 46 | 44 90 | 15.6 | 74.4
2 [kiX BERE 46 | 44 90 | 15.6 | 74.4
3 (B AM - 42 | 40 82 7.2 | 74.8
4 = mée 48 | 46 94 | 19.2 | 74.8
5 [AHE HAK 43 | 44 87| 120 75.0
6 [ K& =EF 44 | 44 88 | 12.0| 76.0
73 * 41 | 47 88| 12.0| 76.0
8 |SFE A 39 | 39 78 1.2 76.8
9 |3k RE(R 52 | 50 102 | 25.2| 76.8
10 [INE FF 50 | 49 99 | 21.6 | 77.4
11| =B 50 | 48 98 | 20.4| 77.6
12 |#iK ERTF 49 | 45 94 | 15.6 | 78.4
13 | KB % 49 | 46 95 | 15.6 | 79.4
14 |fF =Z=FE 52 | 50 102 | 21.6 | 80.4
15 |tk EF 49 | 50 99 | 18.0| 81.0
16 (BF ~oF 52 | 50 102 | 20.4| 81.6
17 =8 E£R 55 | 53 108 | 25.2| 82.8
18 &)l JEF 60 | 64 124 | 36.0 | 88.0




